A publication of

CHEMICAL ENGINEERING TRANSACTIONS

VOL. 86, 2021 The ltalian Association

of Chemical Engineering
Online at www.cetjournal.it

Guest Editors: Sauro Pierucci, Jifi Jaromir Klemes
Copyright © 2021, AIDIC Servizi S.r.l.
ISBN 978-88-95608-84-6; ISSN 2283-9216

Life Cycle Assessment of PVC-A polymer alloy pipes for the
impacts reduction in the construction sector

Alessandro Marson, Alessandro Manzardo*, Mirco Piron, Andrea Fedele, Antonio
Scipioni
CESQA (Quality and Environmental Research Centre), Department of Industrial Engineering, University of Padova, Via

Marzolo 9, 35131 Padova, Italy
alessandro.manzardo@unipd.it

The plastics and construction sectors are at the heart of European policies for the circular economy. Polyvinyl
chloride (PVC) is the most used polymer in construction products and one of the major applications is piping
systems for water distribution. The PVC-A polymer alloy is made blending PVC with chlorinated polyethylene
and it is characterized by improved physical properties that allow a reduction in pipe’s thickness. These
characteristics enable a reduction in the consumption of resources, but a comprehensive analysis of
environmental performance is needed to identify any trade-offs. The aim of this work is to apply Life Cycle
Assessment to evaluate two PVC-A piping systems with different gaskets. The study was conducted according
to the EN 15804 standard and primary data from an industrial-scale production process were used. An extensive
comparison with the main alternatives on the market (PVC-U, PVC-O, PVC-M, and PE) is reported, both referred
to 1 kg and 1 meter of pipe.

1. Introduction

The European Circular Economy Action Plan has individuated plastics and construction sectors as key-value
chains that require urgent, comprehensive, and coordinated actions (European Commission, 2020). In 2018,
20% of plastic production was for the construction sector. This percentage concerned the piping systems for
which unplasticized PVC (PVC-U) is mainly used, while the adoption of PVC-alloy (PVC-A) is increasing.

The latter polymer is made from PVC-U and chlorinated polyethylene (CPE) which improves performance in
terms of resistance to crack propagation, ductility, and resilience (Battaglin and Melotti, 2019). CPE acting as
an impact-resistance modifier (Fitzpatrick et al., 1996), allows having the same mechanical performance as
PVC-U with a 30% thickness reduction (Ferraiuolo et al., 2020).

Despite this advantageous physical and mechanical performance, no environmental analysis of PVC-A piping
systems is available in the literature today.

Life Cycle Assessment (LCA), as defined by ISO 14040 (ISO, 2020a) and 1SO 14044 (1SO, 2020b), is the
compilation and evaluation of the inputs, outputs, and the potential environmental impacts of a product system
throughout its life cycle.

For the construction sector, the use of Environmental Product Declarations (EPD) to communicate LCA results
is widespread (Toniolo et al., 2019). In fact, the application of the European standard EN15804 (CEN, 2013)
ensures the homogeneity in the methodological choices in the conduction of LCA.

EPDs of pressure piping systems made of PVC-U, PVC-O, PVC-M, and PE are currently available (EPD
International AB, 2020).

The aim of this research is therefore to evaluate the potential environmental impacts associated with the
production of PVC-A piping systems (according to EN15804) and compare the results with the main alternatives
available on the market.



2. Methodology

The LCA methodology is an iterative process made of four phases: goal and scope definition, life cycle inventory,
life cycle impact assessment, and interpretation of the results. The methodological choices adopted and the
data used to conduct the study are introduced below, while the impact assessment results are presented and
discussed in the next section.

2.1 Goal and Scope definition

The aim is to analyse the environmental performance of two different PVC-A piping systems. The difference
between the two types of systems is the gasket they have: the first (hereinafter PVC-A PG) has a gasket made
of plastic material (EPDM and PP) and glass fibre, while the second (PVC-A IG) possess a gasket made of
ductile iron and EPDM. Thanks to the iron-based gasket, PVC-A IG can be installed in trenchless mode. The
declared unit chosen for the study is 1 kg of piping system (including gasket). This choice allows to describe the
specific impacts of each configuration regardless of nominal diameter (ND) and working pressure (NP) through
the weights per meter.

The study system boundary is "from cradle to gate" and corresponds to modules Al, A2, and A3 of the EN
15804 standard. Therefore, the production and supply of raw materials are considered, as well as the production
process of the pipe (Figure 1).

' SYSTEM BOUNDARY

| 2 2 |
| | PVCRESIN — T — o, O, o, S :
) 2o Eo =z - :

- B [ | 8 5 g '
' Ow LW Ow LW '
h oz JZ oz Oz !
' Ow wuw Ow wuw H
! CPE T — ;
i s D L R
) b 2y~
! Vo ouw@
: STABILIZERS— T — EXTRUSION, GASKET Pl EES W
P MIXING CUTTING AND o e 153 !
! BELLING P EZoR
‘ H [} w !
i | cALcum | | | : 2oud
! |CARBONATE L )| : = !
i 2 2 1 T
! g Sx H Sk !
. DYES — T — n 7 w < :
' < 7 Ne) < N o '
| = sSF = sSF :
i w w :

GASKET T -

Figure 1: Production process and system boundary

The considered impact categories are Climate Change (CC), Ozone Depletion Potential (ODP), Acidification
Potential (AP), Eutrophication Potential (EP), Photochemical Ozone Formation Potential (POCP), Abiotic
Depletion Potential — Elements (ADPE), and Abiotic Depletion Potential — Fossil Resources (ADPF). The
characterization factors used for the impact assessment are taken from CML-IA 4.1 (CEN, 2013). Moreover, the
"Total Use of Non-Renewable Primary Energy Resources" (TNRE) indicator is also reported and discussed in
this study. The model was created in SimaPro v9.0 environment (Pré Sustainabilty B.V., 2019).

2.2 Life Cycle Inventory Analysis

The study was conducted using primary data provided by a manufacturer located in north-eastern Italy. The
data refer to the entire production of 2018. The primary data cover quantity of raw materials used, supply
distance, quantity of packaging used, consumption of electricity and cooling energy, emissions into the air, and
waste generated. For the characterization of raw materials, transport processes, and energy carriers, reference
was made to Ecoinvent v3.5 (Wernet et al., 2016) and Industry Data v2.0 databases. The latter database was



used for the characterization of the PVC resin through the eco-profiles made by PlasticEurope (PlasticsEurope,
2016). Table 1 shows the composition of the compounds and the datasets used for their modeling.

Table 1: Content declaration of 1 kg of piping system

Material PVC-APG PVC-AIG Dataset used

PVC Resin 87.9% 84.2% Polyvinyl chloride, from suspension process, S-PVC, at
plant/RER

CPE 5.8% 5.6% Primary data-based modeling using: Polyethylene, low density,

granulate {RoW} Production | Cut-off, Chlorine, liquid {RoW}|
chlorine production, liquid | Cut-off, U, Water, CN and
Electricity, medium voltage {CN}| market group for | Cut-off, U

Calcium Based 3.9% 3.7% Data from (VITO 2016)

stabilizer

Calcium Carbonate 0.9% 0.9% Calcium carbonate, precipitated {RER}| calcium carbonate
production, precipitated | Cut-off, U

Dyes 1.0% 0.9% Polyvinyl chloride, from suspension process, S-PVC, at
plant/RER, Chemical, organic {GLO}| market for | Cut-off, U
and Copper

Gasket 0.5% 4.8% For PVC-A PG: Polypropylene, granulate {RER}| production |

Cut-off, U, Injection moulding {RER}| processing | Cut-off, U,
Glass fibre reinforced plastic, polyamide, injection moulded
{RER}| production | Cut-off, U and Synthetic rubber {RER}|
production | Cut-off, U;

For PVC-A IG: Cast Iron {RoW} production | Cut-off, U and
Synthetic rubber {RER}| production | Cut-off, U

The trigeneration plant of the production site was considered for modelling the energy vectors. Therefore, the
consumption of resources for electric energy generation was modelled as a mix of grid energy absorption (using
the Italian residual mix (AIB, 2018)) and natural gas utilization for self-power generation. Accordingly, cooling
energy is provided from the trigeneration plant and it is distributed by the circulation of refrigerated water.

The raw materials, after being weighed, are sent to the mixing process. Afterwards, the mixture is cooled and
undergoes extrusion, cooling, calibration, marking, cutting, and labelling processes. Lastly, the gasket is
inserted, and the pipe is packed with wooden pallets (0.13 kg of wood per kg of pipe). The data on material and
energy consumption for the listed operations are summarized in Table 2. The production waste is internally
recycled Whereas, the contribution of internal handling, lighting, disposal of general waste, and water
consumption, since they do not contribute significantly to environmental impact are omitted even if accounted.

Table 2: Inputs and outputs for the pipes production

Process Input/Output Units Quantity Process Input/Output Units Quantity
Mixing Raw Materials kg 1039 Extrusion, PVC-A kg 1110
cutting and
belling
Electrical Energy kWh 65 Electrical Energy kWh 317
Cooling Energy kWh 26 Cooling Energy kWh 249
Output Output
PVC-A kg 1000 Pipe kg 1000
Particulates to air g 26 Particulates to air g 4
TOC to air g 23 TOC to air g 16
Waste kg 39 Waste kg 110

2.3 Comparison with other materials

To make a comparison with other technological solutions on the market, a search was carried out on the website
of the Program Operator "The International EPD® System" (EPD International AB, 2020). Four EPDs were
identified from which the environmental impact profile of pipes made of PVC-U, PVC-O, PVC-M was derived
(two data sets for each polymer). All studies were conducted using the same Product Category Rules (The
International EPD® System, 2012) ensuring the homogeneity of the analysis and thus the validity of the



comparison The data used are shown in Table 3. For the comparison, the average of each polymer was
considered and expressed about both 1 kg and 1 meter of pipe.

The ND 200 mm and NP 16 bar configuration was considered for the comparison with PVC pipes and the ND
200 mm and NP 10 bar configuration for the comparison with PE pipes.

Table 3: Environmental impact values for 1 kg of piping system extrapolated from the analysed EPDs. (1)
(Iplex, 2017) (2) (Vinidex, 2017) (3) (Iplex, 2018) (4) (Vinidex, 2018)

Parameter  PVC-U (1) PVC-U (2) PVC-O (1) PVC-O (2) PVC-M (1) PVC-M (2) PE (3) PE (4)

CC (kg COz eq) 2.70E+0 2.68E+0 3.59E+0 3.71E+0 3.52E+0 3.50E+0 3.52E+0 3.47E+0
ODP (kg CFCu1€eq) 1.03E-6 9.97E-7 4.65E-8 4.78E-8 4.69E-8 4.94E-8 3.68E-8 5.30E-8
AP (kg SOz eq) 8.05E-3 8.28E-3 9.62E-3 9.92E-3 9.56E-3 9.56E-3 9.49E-3 9.76E-3
EP (kg PO4eq) 1.85E-3 1.93E-3 2.39E-3 2.50E-3 2.38E-3 2.38E-3 2.34E-3 2.41E-3

POCP (kg CHaseq) 5.30E-4 5.63E-4 3.97E-4 3.80E-4 3.78E-4 4.16E-4 3.57E-4 4.25E-4
ADPE (kg Sb eq) 1.40E-6 148E-6 4.61E-6 4.78E-6 4.64E-6 4.66E-6 4.40E-6 4.79E-6
ADPF (MJ) 5.85E+1 5.73E+1 2.20E+1 2.38E+1 2.51E+1 2.38E+1 2.20E+1 2.62E+1
TNRE (MJ) 6.27E+1 6.14E+1 6.95E+1 7.24E+1 7.13E+1 7.11E+1 7.04E+1 7.27E+1

3. Results and Discussion
3.1 Life Cycle Impact Assessment

The characterized results of PVC-PG and PVC-A IG are reported, respectively, in Table 4 and Table 5.
Environmental impacts are presented in percentage contributions of PVC, CPE, Gasket, Other Raw Materials
(RM), Energy (electrical and cooling), Transport and Manufacturing.

Table 4: Life Cycle Impact Assessment for 1 kg of PVC-A PG

Parameter Total PVvVC CPE Gasket Other RM Energy Transport Manufacturing
CC (kg COz eq) 2.70E+0 73.7% 4.5% 0.6% 4.5% 9.9% 5.0% 1.8%
ODP (kg CFC11eq) 1.03E-6 89.8% 1.1% 0.1% 2.4% 4.0% 2.1% 0.6%
AP (kg SOz eq) 8.05E-3 54.2% 6.1% 0.7% 6.6% 15.5% 13.5% 3.4%
EP (kg POseq) 1.85E-3 50.2% 6.0% 1.0% 10.1% 15.9% 12.8% 4.1%
POCP (kg CHseq)  5.30E-4 70.2% 4.3% 0.7% 5.1% 8.1% 6.3% 5.4%
ADPE (kg Sb eq) 1.40E-6 2.4% 7.5% 0.8% 40.1% 18.0% 22.7% 8.5%
ADPF (MJ) 5.85E+1 80.0% 4.7% 0.6% 3.5% 6.4% 3.3% 1.4%

Table 5: Life Cycle Impact Assessment for 1 kg of PVC-A IG

Parameter Total PVC CPE Gasket Other RM Energy Transport Manufacturing
CC (kg COz2 eq) 2.68E+0 70.8% 4.3% 3.5% 4.4% 9.6% 5.5% 1.8%
ODP (kg CFCiu1eq) 9.97E-7 89.0% 1.1% 0.5% 2.3% 4.0% 2.5% 0.6%
AP (kg SOz eq) 8.28E-3 50.4% 5.6% 4.8% 6.3% 14.4% 15.2% 3.3%
EP (kg POseq) 1.93E-3 46.0% 5.5% 7.2% 9.5% 14.6% 13.3% 3.9%
POCP (kg CHseq)  5.63E-4 63.2% 3.9% 9.0% 4.7% 7.3% 6.9% 5.1%
ADPE (kg Sb eq) 1.48E-6 2.2% 6.8% 7.0% 36.5% 16.4% 23.1% 8.0%
ADPF (MJ) 5.73E+1 78.0% 4.6% 2.5% 3.5% 6.2% 3.7% 1.4%

The two products show similar environmental profiles, except for the higher contribution of the PVC-A IG Gasket
in all impact categories.

PVC resin is the main contributor in all categories (up to almost 90%) except for ADPE. For this category, the
greatest impacts derive from the materials used to produce stabilizers (mainly zeolite). Other significant
contributions in this category are CPE production (consumption of chlorine), transports (lead to produce lorries),
and cooling energy (metals used to make the chiller). CPE, which differentiates PVC-A from other PVC alloys,
shows the greatest impacts (always below 7.5%) in AP and EP, in both cases related to the raw material used.
The PVC-A IG ductile iron gasket has impacts up to 9%, in particular in the categories POCP (due to the
extraction and processing of iron), EP (combustion of Coke), and ADPE (production of EPDM).



3.2 Results of comparison

The results of the comparison referred to 1 kg of piping system are shown in Figure 2. The PVC-A shows better
results compared with the other polymeric alloys. The categories CC, AP, EP, ADPE, and TNRE highlight the
better environmental performance of PVC-A. On the other hand, the results in the ODP, POCP, and ADPF
impact categories are worse for PVC-A than other polymeric solutions, other than PE, which shows lower
impacts in the EP category but higher impacts in ADPF.

The major differences are found in the ODP, ADPE, and ADPF categories. The difference for the ODP category
is due to the use of different datasets for the characterization of PVC. In fact, the dataset of the Industry Data
library (used for PVC) attributes to the production process of PVC an emission of CCls into the air about five
hundred times greater respect the Ecoinvent v3.5 database. There are no other significant differences between
the two datasets. For the ADPE category, the variations are due to the different compositions of stabilizers and
dyes. The differences in the ADPF category can only be derived from different modeling, as the results for PVC-
U, PVC-O and PVC-M contrast with what was reported for the TNRE indicator.

350%
sPVC-A “~PVC-U #PVC-O wPVC-M =PE o
300% %3
\ &
250% %3
N\
200% %3
b %3
150% %3
%ﬁi
100% = X S — ..:.:.
= §\ o N\? W
50% N N w
. NER
0% = :\\ ) PR //?:' :\\.\ ]

POCP ADPE ADPF

TNRE

Figure 2: Comparison between 1 kg of different piping systems

The results expressed in terms of 1 meter of piping system highlight, even more, the reduction of the impacts of
PVC-A, as it is lighter (with the same ND and NP) than other technological solutions with the exception of PVC-
O (Table 6).

Table 6: Comparison between 1 m of different piping systems (ND 200mm). The absolute values and the
percentage variation with respect to PVC-A are reported

PVC-A PVC-U PVC-O

PVC-M PVC-A PE

Parameter (PN16) (PN16) Var% (PN16) Var% (PN16) Var% (PN10) (PN10) Var%
Weight (kg/m) 7.99E-1 1.32E+0 +65% 6.97E-1 -13% 1.10E+0 +38% 5.30E-1 7.19E-1 +36%
CC (kg COz2 eq) 2.15E+0 4.68E+0 +118% 2.52E+0 +17% 3.85E+0 +79% 1.42E+0 2.17E+0 +53%
ODP (kg CFC11€eq) 8.10E-7 6.33E-8 -92% 2.95E-8 -96% 5.49E-8 -93% b5.37E-7 4.17E-8 -92%
AP (kg SOz eq) 6.53E-3 1.27E-2 +94% 6.77E-3 +4% 1.06E-2 +63% 4.32E-3 7.69E-3 +78%
EP (kg POseq) 1.51E-3 3.15E-3 +108% 1.69E-3 +12% 2.63E-3 +74% 1.00E-3 8.52E-4 -15%
POCP (kg CH4eq) 4.37E-4 5.36E-4 +23% 2.57E-4 -41% 4.41E-4 +1% 2.90E-4 3.62E-4 +25%
ADPE (kg Sb eq) 1.15E-6 6.12E-6 +431% 3.20E-6 +178% 5.18E-6 +350% 7.63E-7 1.09E-6 +43%
ADPF (MJ) 4.63E+1 3.02E+1 -35% 1.60E+1 -65% 2.82E+1 -39% 3.06E+1 5.64E+1 +84%
TNRE (MJ) 4.96E+1 9.28E+1 +87% 4.98E+1 +0% 7.92E+1 +60% 3.29E+1 6.54E+1 +99%




4. Conclusions

This research presented an in-depth analysis of the environmental performance of PVC-A piping systems,
providing an extensive comparison with the main alternatives on the market. PVC-A shows significant reductions
in impacts in five out of eight categories in the comparison based on one kilogram of pipe. This trend is
highlighted by moving the analysis to one meter of pipe, where PVC-A has an advantage thanks to its reduced
weight. Future research developments could concern the extension of the system boundaries which might show
further improvements related to transport (due to the lower weight) and installation (thanks to the trenchless
installation made possible by the ductile iron gasket system) phases.

Acknowledgments

The authors would like to thank the FITT S.p.a. for kindly providing primary data of the production process.

References

AIB, 2019, European Residual Mixes 2018, Association of Issuing bodies <www.aib-net.org/facts/european-
residual-mix/2018> accessed 01.07.2020.

Battaglin G., Melotti N., 2019, Polymeric Alloy Pipe with Restraint Joint System for HDD Applications, 37th
International NO-DIG Conference and Exhibition 2019, Fortezza da Basso: International Society for
Trenchless Technology.

CEN, 2013, EN 15804:2013 - Standards Publication Sustainability of Construction Works — Environmental
Product Declarations — Core Rules for the Product Category of Construction Products.

EPD International AB, 2020, The International EPD System www.environdec.com/> accessed 01.07.2020.

European Commission, 2020, Circular Economy Action Plan.

Ferraiuolo R., De Paola F., Fiorillo D., Caroppi G., Pugliese F., 2020, Experimental and Numerical Assessment
of Water Leakages in a PVC-A Pipe, Water (Switzerland) 12 (6). doi.org/10.3390/w12061804.

Fitzpatrick, P., Mount P., Smyth G., Stephenson R. C., 1996, Fracture Toughness and Dynamic Fatigue
Characteristics of Poly(Vinyl Chloride)-Chlorinated Polyethylene Blends, Plastics, Rubber and Composites
Processing and Applications 25 (8): 359-63.

Iplex, 2017, Environmental Product Declaration PVC Pressure Pipes,
<www.environdec.com/Detail/?Epd=10898> accessed 01.07.2020.
Iplex, 2018, Environmental Product Declaration Polyethylene Pipes,

<www.environdec.com/Detail/?Epd=10901> accessed 01.07.2020.

ISO, 2020a, Environmental Management - Life Cycle Assessment - Principles and Framework (ISO
14040:2006/Amd 1:2020).

ISO, 2020b. Environmental Management - Life Cycle Assessment - Requirements and Guidelines (ISO
14044:2006/Amd 2:2020).

PlasticsEurope, 2016, Vinyl Chloride (VCM) and Polyvinyl Chloride (PVC) PlasticsEurope/The European
Council of Vinyl Manufacturers (ECVM). Eco-Profiles and Environmental Product Declarations of the
European Plastics Manufacturers.

Pré Sustainability B.V., 2019, SimaPro

The International EPD® System, 2012, Construction Products and Construction Services 2012:01.

Toniolo S., Mazzi A., Simonetto M., Zuliani F., Scipioni A.. 2019, Mapping Diffusion of Environmental Product
Declarations Released by European Program Operators, Sustainable Production and Consumption 17: 85—
94. doi.org/10.1016/j.spc.2018.09.004.

Vinidex, 2017, Environmental Product Declaration PVvC Pressure Pipes,
<www.environdec.com/Detail/?Epd=10904> accessed 01.07.2020.
Vinidex, 2018, Environmental Product Declaration Polyethylene Pipes,

<www.environdec.com/Detail/?Epd=10905> accessed 01.07.2020.

VITO, 2016, Life Cycle Assessment ( LCA ) Studies for Typical Formulations of Stabilizers Used in Major
Applications for Buildings

Wernet G., Bauer C., Steubing B., Reinhard J., Moreno-Ruiz E., Weidema B., 2016, The Ecoinvent Database
Version 3 (Part I): Overview and Methodology, International Journal of Life Cycle Assessment 21 (9): 1218—
30. doi.org/10.1007/s11367-016-1087-8.



	Life Cycle Assessment of PVC-A polymer alloy pipes for the impacts reduction in the construction sector

